3 Write the correct symbol, >, = or < In each Statement.

S00m ... N.....5km
S0mm .2 05cm
S000cm ............. 0.05km

(b) Write one of these symbols =, << or = to make each Stalement true.

(V2) 2
! 9
1+1 -
-1y -1

(c) Put one pair of brackets in each statement to make 1t true.
Mfle + 8)= 4 — 2 = 4

(i) 16 + 8 =14 - 2\= 20

(d) (i) Write 84 as a product of its prime factors.

@

(ii) Find the highest common factor of 84 and 24.
—

‘/3 ) Answerfd)(1) = L = L. 5 ...

(ZL[—" lxlﬂ%ﬂ@

R L

ad
(D 2
N
®

(2]

[2]

HCF - 2x2%3

.



(e)

2 x 7 x

tL x2 = 160 +&

(iii) Find the lowest common multiple of 84 and 24.

Here are the first four terms of a sequence.

_'l+ L' !

Answer{d)(1i1) Ibg [2]

I+Lf

1
+4

(i) Wnte down the next thn 1n this sequence.

S +4 =
-
(ii) Explain how you found your arax'er.

Answerfe)(11) Adde

(iii) Write down an expression for the nth

Answer(e)(i) )q [1]
fur to fifteen |

term of this sequence.

Answerfel(1i1) qn' [2]

]

E—



() 157 .

%00 x 157

Work out the value of x. k—
%)

3 \0(& Amwerfc)[i)x=...............Lm.ﬁ{lt...ﬁm.. [
® 9.9~ ~ 3/
L\
\ N, .
¥ 54° = lg()
Work out the value of y. ‘Lf_o‘

_oa 18O - 103 =17
03 :
Answerfc)(il) y = 77 [2]

4 Theagesg en who go to a swimming club are shown below.
M AT 0 p
1>

(a) Complete the frequency table.
You may use the tally column to help you.

Civele PX =2 (87470
(

Age J/ Tally ~ Frequency

07 J1L o 3 ]._g
e &

B3| / J

[2]

gy

= |S
(10x%)+ (1 x ‘5)+ ==
CI’LX @)+L\%7k(>
30 +55 +7a ¥+ 12
¢S + 5 =— 170



(b) For the ages of the 15 children, find

{i) the range,

1D~ 10 Answer(b)(i) DD ]

{ii) the mode, ;
Answer(h)(ii) l [1]

Gy the median, | b - gt
n+l _ |5+ :%grl

9:: - 1
IS
70 /200 3
ICD = I | . Bszkww(w) “‘3 2] 6o

(d) One of Simon’s presents is a bag of sweets.
He decides to eat the sweets in a sequence.
On day | he eats | sweet, on day 2 he eats 5 sweets, on day 3 he eats 9 sweets and so on.

(iv) the mean.

- o4
(i) Describe in words the rule for continuing the sequen L5913, 17 .

Answer(d)(i) uddfou\/ ]

(ii) Write down an expression for the number of sweets he eats on day n.

Answer(d)(ii) L"V\/VS 2]

H/J‘L’:}'\mé\él S g
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